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Annual demand for an item is 3,200 units. The carrying Cost is Tk. 1.50 per unit. It the proceurement

cost Tk. 150 per order then determine ; a. Economic Order Quantity. b. Number Order per year. C.

Time between two consecutive order.
2

. Using the moving average method to estimate average demand:
i. Compute a three week moving average forecast for the arrival of medical clinic patients in week.
The number of arrivals for the past three weeks were as follows :

Week Patients arrivals
1 400
2 380
3 411

ii. If the actual number of patient arrivals in week 4 is 415, what is the forecast error for week 4?
iii. What is the forecast for week 5?
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Part-A
Answer any ten questions : 1x10=10

51 (a) Whatismeantbyr=+1,r=-1landr=0?

(b) What is stem and left display?

(c) What do you mean by g, and g,?

(d) What is meant by Ho and Hp ?

(e) What is chi-square ( z?) test?

(f) What is business statistics?

(g) What is standard deviation?

(h) What is regression analysis?

(i) What is range?

(i) What is sampling?

(K) What is scatter diagram?

(1) What do you mean by time series?

Part-B

Answer any five questions: 4%x5-20
2. Discuss the limitations of statistics.
3. Draw a pie-chart from the following data :
Cost of materials Tk. 40,000; Cost of labour Tk. 30,000; Direct expenses of manufacture Tk 10,000 ;
Factory overhead expenses Tk. 15,000; Miscellaneous expenses Tk. 5,000.
4. Given the following informations find standard deviation, N=10, £x=60, x* = 1,000.
5. The average marks of 49 students of a class is 60. The marks obtained by 50 student is 49 more average
marks of all the 50 students. Find the mean marks of all the 50 students.
6. Distinguish between skewness and kurtosis.
7. A bag contains 7 red, 12 white and 4 green balls. What is the probability that-
a. 3 balls drawn are all white and
b. 3 balls drawn are one of each colour?
8. For a group of 20 items Ix = 1452 and £x* = 144280 and mode = 63.7, find the Pearson's coefficient of
skewness.
9. From the following data calculate mean deviation :16, 20, 22, 19, 18, 20, 30, 18, 22.

Part-C

Answer any five questions : 10x5 =50
10. The obtained marks of 30 candidates in an examination are given below:
40, 30, 35, 55, 68, 72, 60, 52, 48, 62 45, 47, 53, 57, 75
87, 56, 49, 45, 39 ,40, 45, 57, 59, 62, 65, 72, 73, 85, 90
a. Construct a frequency distribution table by using suitable class interval,
b. Construct a stem and leaf diagram.
11. The following table gives the height (in inches) of 100 students of a class. Compute mean, median and
mode of the height. Also comment about the nature of distribution :

Height (inches) 60-62 62-64 64-66 66-68 68-70 70-72
No. of students 5 18 42 20 8 7
12. Particulars regarding income of two villages are given below:
Village A Village B
No. of people 600 500
Average income 175 186
Variance of income 100 81




Required :
a. In which village is the variation in income greater?
b. What is the total income of both the villagers put together?
c. What is the average income of the people of both the villagers put together?
d. What is the combined standard deviation?
13. A manufacturing company produces plastic pipes in 3 plants with daily production volumes 2.000. 1.000
and 500. Among their daily thousand production 10, 8 and 5 items are defective respectively. If a pipe is
chosen at random and it found defective, find out-
i. from which plant for this defective pipe, the probability is highest?
ii. What is the probability that it came from the third plant?
14. You are given below the following information about advertisement and sales :
Advertisement Exp. (TK. lac) Sales (TKk. crores)
Mean 20 120

SD 5 25

Correlation coefficient is 0.8

a. Calculate two regression equations.

b. Find the likely sales when advertisement expenditure is Tk. 25 lac.

c. What should be the advertisement budget if the company wants to attain sales target of Tk. 150 crores?
15. In a random sample of 600 men taken from a big city in which 400 are found to be smokers. In another
rai sample of 900 men taken from other city in which 450 are found smokers. Do the data indicate that there
significant difference in the habit of smoking in the two cities?

16. Fit a trend line by the method of least squares to the following data :

Year 2007 2008 2009 2010 2011 2012 2013 2014
Sales 38 40 60 70 75 60 85 95
Plot the given data on a graph paper and estimate the sales for the year 2015.
17. From the following information calculate, Fisher's ideal index number and also comment :-
Base Year Current Year
Price in Tk. Quantity Price in Tk. Quantity
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36
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Part-A

1. Answer any ten questions : Marks - 1 x 10 = 10

a. Elaborate : ICMAB.

b. What do you mean by margin of safety?

c. What are the elements of cost?

d. What is budgetary control?

e. What is conversion cost.

f. What is zero based budget?

g. What do you mean by variance?

h. What is capital rationing?

i. What is Activity Based Management?

J- What is relevant cost?

k. Define cash budget.

I. What is master budget?

Part-B

Answer any five questions : Marks- 4 x 5 =20
2. What are the differences between management accounting and financial accounting?
3. What factors will you consider at the time of "Make or Buy" decision?
4. Distinguish between budget and forecast.
5. In 2016 TANZIM Company had sales of Tk. 1,99,50,000 with tk. 1,15,71,000 variable and Tk. 76,23,000
fixed costs. 2017 sales are expected to decrease 15% and the cost relationship is expected to remain
constant. (The fixed costs with not change)
Determine TANZIM Company's operating income or loss for 2017.
6. NUHA Ltd. has the following data :

Year 1 Year 2
Beginning inventory as per variable costing nil 40,000
Beginning inventory as per absorption costing nil 58,000
Ending inventory as per variable costing 40,000 nil
Ending inventory as per absorption costing. 58,000 50,000
Profit as per variable costing 50,000 50,000
Profit as per absorption costing 68,000 32,000

Prepare a reconciliation statement.

7. Mumu Company has fixed expenses of Tk.90.000 with sales at Tk. 3,00,000 and a profit of Tk. 60.000. If
in the next period, the company suffered a loss of Tk. 30,000, calculate the sales volume.

mining

8. Mounia. Manufacturing Ltd. is examining the the profitability of investing in new project. The following
information is available in respect of the project.

Investment Tk. 12,60,000
Residual value at the end of life Tk. 60,000
Life 20 years
Per-tax profit each year Tk. 1,80,000
Tax rate 50%

Required : (i) Annual cash inflow; (ii) Pay Back period (PBP); (iii) Average Rate of Return (ARR).
9. Discuss the advantage of flexible budget.



Part-C
Answer any five questions : Marks - 10 x 5 =50
10. a. What is meant by product life-cycle management? State the stage of product life-cycle.
b. Define value chain. Name the six primary business functions that make up the value.
11. The following particulars are available from the books of a company for the year ended 2016:
Sales : 150000 kg; Sales price Tk. 20 per kg.
Finished goods inventory (1-1-2016) 24,000 kg.
Finished good inventory (31-12-2016) 35,000 Kkg.
Manufacturing cost :
Variable cost per kg. Tk. 8.
Fixed factory overhead Tk. 1,60,000 (normal capacity 1,60,000 kg).
Marketing and Admin expenses :
Variable cost per kg. of sales @ Tk. 1.00.
Fixed marketing and admin expenses Tk. 3,00,000.
Standard costing system is used.
Required : (i) Income statement under absorption costing.
(ii) Income statement under variable costing system.
12. From the following details against production of 8000 units in 2015, prepare flexible budget for 10,000
and 12,000 units for 2016:

Taka
Material 40,000
Direct expenses 16,000
Wages 24,000
Factory expenses 20,000
Administrative expenses 4 0,000
Selling expenses 30,000
Sales 2,40,000

Material cost is likely to go up by 2% per unit. Administrative expenses may go up by 5% due to normal
increment. Selling expenses rise by 5% against increase of 20% or any part there of above 8,000 units. All
selling prices are to be reduced by 10% if production above 10,000 units is to be sold.

13. (a) Only variable cost can be differential cost. Do you agree? Explain.

(b) The Kohinoor Chemical Company has sales of Tk. 1,20,000, a margin of safety 40% and p/v ration 30%
during the current year, the company expects that next year the fixed cost and the sales price will increase.
As a result the margin of safety and the p/v ratio will change to 35% and 40% respectively.

Required: (i) The present break even sales; (ii) The amount of current profit;

(iii) The break even sales next year; (iv) The amount of profit next year.

14. (a) Discuss the essentials of a good budgetary control.

(b) Raj Chemical Company is considering a project which requires an investment of Tk 40.000. The
estimated salvage value is zero. Tax rate 50%, cost of capital 10%. The company uses straight line

depreciation and proposed project cash-flows before tax (CFBT) as follows:
At the end of year 1 2 3 4 5
CFBT (Tk.) 10,000 10,000 15,000 15,000 25,000

Determine payback period and IRR if cost of capital 10%.

15. (a) " Integrity is more important or business professionals that it is for business students.”- Do you
agree? Explain.

b) Discuss the cost classification for decision-making.

On December 31 of last year, there were 80,000 kgs of raw material on hand and 5,600 units of finished
goods.

You are required to prepare :

(i) Budget for production.

(if) Budget for purchase of raw material in units for as may months as possible.



16. (a) Discuss the purpose of cash budget.
(b) Modern furniture has the following forecasted data :

Detail
September Taka October Taka

Cash sales 40,000 60,000
Sales on credit 77 500 95,000
Cash purchase 20,000 20,000
Purchase on credit 1,00,000 80,000
Accounts payable (beginning) 10,000 12,000
Accounts payable (ending) 12,000 9,000

Cash operating expenses 45,5000 10,000

Net sales on credit are collected 50% in the month of sales, 40%, in the month following and 10% in
the second following month. Such sales in July and August were Tk. 1,00,000 and Tk. 1.20.000
respectively. The estimated September 1 cash is Tk. 13,000.

Required: Prepare a cash budget for the month of September and October.

17. (a) Define management by exception.

(b) Discuss the advantage of standard cost.



TR * TP = IS
g frer
AI-TEHT 21T 200
Preliminary to Master’s
Masters of Business Administration(MBA)

= @ -
I : 8 BT
F - oM
T @& w5 2teg Tex Wi |
S ?
.BSCIC
?
?
) ?
.TIN -
) ?
. PERT - ?
?
?
?
?
¥ - fqorm
T @ A5G &0 T&d Wi |
. SWOT-
. VAT -
9 for
T @ A5 &ry7 g wie |
.o ?
2
, ?

W:b‘o

YXdo =30

8XE =0

YoX¢& = ¢o



TR * TP =T IS
g frer
AI-TEHT 21T 200
Preliminary to Master’s
Masters of Business Administration(MBA)

8
T @ -
I : 8 O SR : bo
¥ - fem
Sl T & Wit 2teE Tex W | yX30 = S0
) ?
: ?
. SDG-
?
?
?
) ?
. BEPZA
?
2
?
?
¥ - fqorm
(I ABH AT Ted 7S | 8X¢ = R0
5.
51 for
T @& A6 ora Tea wie | SoXE = ¢o
?
?



TR * TP =T IS
g frer
AI-TEHT 21T 200
Preliminary to Master’s
Masters of Business Administration(MBA)

T @ -
T : 8 O S : bo
T - fom
S @ WG 2red Ted Wi | YX30 = do
) ?
?
?
?
?
: ?
.CBA ?
. FBCCI
?
?
?
?
g - e
T @ A Qg Ted wls | 8Xe& = X0
?
51 for
T @I A6 Qraa Teg Ale | SoXE = ¢o
2
?



I P T2 TS
REEEIREEL
AI-TEHT 21T 200
Preliminary to Master’s
Masters of Business Administration(MBA)

T e -
Y : 8 Tl ST : bro
T - fom
T & Wit e T Wi | 3X30 = do
S . ?
2
2
?
. - A 2
.GSP ?
?
2
) ?
. BEPZA- ?
?
?
¥ - fqorm
T @ A6 &0 Tex Wi | 8X¢ = 0
2. ?
?
?
?
?
9 for
T &I A5 Qrea Tea wie | SoX€ = ¢o
10. )
11.
?
1.
1.
1. -



